

FOURIER TRANSFORM OF $h_n(x+p)h_n(x-p)$

MOURAD E. H. ISMAIL

Department of Mathematics
University of South Florida
Tampa, FL 33620, U.S.A.

KRZYSZTOF STEMPAK

Instytut Matematyczny
Polskiej Akademii Nauk
ul. Kopernika 18, 51-617 Wrocław, POLAND

(Received April 17, 1996 and in revised form December 3, 1996)

ABSTRACT. We evaluate Fourier transform of a function with Hermite polynomials involved. An elementary proof is based on a combinatorial formula for Hermite polynomials.

KEY WORDS AND PHRASES: Fourier transform, Hermite polynomials, Hermite functions.

1991 AMS SUBJECT CLASSIFICATION CODES: Primary 42A38; Secondary 33C45.

In this note, by using elementary means, we prove the identity

$$\int_{-\infty}^{\infty} e^{-i\sqrt{2}qx} h_n\left(x + \frac{p}{\sqrt{2}}\right) h_n\left(x - \frac{p}{\sqrt{2}}\right) dx = e^{-(p^2+q^2)/2} L_n(p^2 + q^2) \quad (1)$$

which was previously known in special cases $p = 0$ or $q = 0$, cf. [3, p.503 (10)] and [1, Section 1.10, (10)]. In the above formula $h_n(x)$, $n = 0, 1, \dots$, are the normalized Hermite functions

$$h_n(x) = (2^n \pi^{1/2} n!)^{-1/2} e^{-x^2/2} H_n(x),$$

$H_n(x)$ denotes the n -th Hermite polynomial, [5, p. 102] and $L_n^\alpha(x)$ denotes the n -th Laguerre polynomial of order α , [5, p. 97]. When $\alpha = 0$ we write $L_n(x)$ rather than $L_n^0(x)$. The proof of (1) reduces to showing the identity

$$\int_{-\infty}^{\infty} e^{-i\sqrt{2}qx} H_n\left(x + \frac{p}{\sqrt{2}}\right) H_n\left(x - \frac{p}{\sqrt{2}}\right) e^{-x^2} dx = 2^n \pi^{1/2} n! e^{-q^2/2} L_n(p^2 + q^2). \quad (2)$$

The proof of (2) is based, in turn, on the combinatorial formula

$$H_n\left(x + \frac{p}{\sqrt{2}}\right) H_n\left(x - \frac{p}{\sqrt{2}}\right) = 2^n n! \sum_{j=0}^n \frac{1}{2^j j!} L_{n-j}^{-1}(p^2) H_j(x)^2 \quad (3)$$

which will be proved in a moment (we were not able to find the above formula in the literature). Substituting (3) into the integral to be evaluated in (2) and using the known values of the

integral in (2) for $p = 0$ and $j = 0, 1, \dots$, we get

$$\begin{aligned} & \int_{-\infty}^{\infty} e^{-i\sqrt{2}qx} H_n(x + \frac{p}{\sqrt{2}}) H_n(x - \frac{p}{\sqrt{2}}) e^{-x^2} dx \\ &= 2^n n! \sum_{j=0}^n \frac{1}{2^j j!} L_{n-j}^{-1}(p^2) \int_{-\infty}^{\infty} e^{-i\sqrt{2}qx} H_j(x)^2 e^{-x^2} dx \\ &= 2^n \pi^{1/2} n! e^{-q^2/2} \sum_{j=0}^n L_{n-j}^{-1}(p^2) L_j(q^2) \\ &= 2^n \pi^{1/2} n! e^{-q^2/2} L_n(p^2 + q^2). \end{aligned}$$

The last step required using the well-known identity

$$\sum_{j=0}^n L_{n-j}^a(x) L_j^b(y) = L_n^{a+b+1}(x+y)$$

with $a = -1$ and $b = 0$.

We were motivated to consider the integral (1) by the interesting work of Strichartz [4] where he considered the Hermite functions

$$\varphi_{\alpha,\beta,\epsilon}(\bar{q}, \bar{p}) = \pi^{-m/2} \int_{\mathbf{R}^m} e^{i\epsilon\sqrt{2}\bar{q}\bar{x}} h_{\beta}(\bar{x} + \frac{\bar{p}}{\sqrt{2}}) h_{\alpha}(\bar{x} - \frac{\bar{p}}{\sqrt{2}}) d\bar{x}.$$

In the above formula $\bar{p}, \bar{q} \in \mathbf{R}^m$, $\alpha, \beta \in \mathbf{Z}_+^m$, $\epsilon = \pm 1$ and

$$h_{\alpha}(\bar{x}) = \prod_{j=1}^m h_{\alpha_j}(x_j)$$

for $\bar{x} = (x_1, \dots, x_m)$ and $\alpha = (\alpha_1, \dots, \alpha_m)$. It is clear that (1) gives

$$\varphi_{\alpha,\alpha,\epsilon}(\bar{q}, \bar{p}) = \pi^{-m/2} \exp\left(-\frac{|\bar{p}|^2 + |\bar{q}|^2}{2}\right) \prod_{j=1}^m L_{\alpha_j}(p_j^2 + q_j^2).$$

Let us also add that a group-theoretic approach allows to find an explicit form of $\varphi_{\alpha,\beta,\epsilon}(\bar{q}, \bar{p})$, with arbitrary α, β , cf. [2, p.64].

The rest of the note is devoted to the proof of (3) which we now write in the form

$$H_n(x+y)H_n(x-y) = 2^n n! \sum_{j=0}^n \frac{1}{2^j j!} L_{n-j}^{-1}(2y^2) H_j(x)^2. \tag{4}$$

Applying Mehler's formula for Hermite polynomials

$$\sum_{n=0}^{\infty} \frac{1}{2^n n!} H_n(x) H_n(y) t^n = (1-t^2)^{-1/2} \exp\left(\frac{2xyt - x^2 t^2 - y^2 t^2}{1-t^2}\right), \quad |t| < 1,$$

and the generating function formula for Laguerre polynomials

$$\sum_{k=0}^{\infty} L_k^{\alpha}(x) t^k = (1-t)^{-\alpha-1} \exp\left(\frac{-xt}{1-t}\right), \quad |t| < 1,$$

for $\alpha = -1$ one gets

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{1}{2^n n!} H_n(x+y) H_n(x-y) t^n &= \exp\left(-2\frac{y^2 t}{1-t}\right) \cdot (1-t^2)^{-1/2} \exp\left(\frac{2t}{1+t} x^2\right) \\ &= \left(\sum_{k=0}^{\infty} L_k^{-1}(2y^2) t^k\right) \cdot \left(\sum_{m=0}^{\infty} \frac{H_m(x)^2}{2^m m!} t^m\right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{j=0}^n 2^j j! L_{n-j}^{-1}(2y^2) H_j(x)^2\right) t^n. \end{aligned}$$

Comparing the coefficients gives (3). Note that an application of the Cauchy multiplication of the two series above is being possible by the fact that both are, for fixed y and x , absolutely convergent for $|t| < 1$. This is easily seen once we use the well known estimate $L_k^{-1}(2y^2) = O(k^{-3/4})$, cf. [5, (7.6.10)], and a similar estimate for $H_m(x)$.

ACKNOWLEDGEMENT. This research was supported by NSF Grant DMS 9625459 and KBN Grant 2 PO3A 030 09.

REFERENCES

1. ERDELYI, A., MAGNUS, W., OBERHETTINGER, F., and TRICOMI, F.G., *Tables of integral transforms*, vol.1, McGraw-Hill, New York, 1954.
2. FOLLAND, G., *Harmonic analysis in phase space*, Annals of Math. Studies 122, Princeton University Press, Princeton, 1989.
3. PRUDNIKOV, A.P., BRYCHKOV, YU.A., and MARICHEV, O.I., *Integrals and Series. Special functions*, " Nauka", Moscow, 1983. (Russian)
4. STRICHARTZ, R.S., *Harmonic analysis as spectral theory of Laplacians*, J. Funct. Anal. **87** (1989), 51-148.
5. SZEGÖ, G., *Orthogonal polynomials*, Colloquium Publications, vol. 23, American Mathematical Society, New York, 1939.